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TEATAT 16, 36, 45, 48 § ¥ Y« ¥ fawfve 2m
refl IR 37hi i gy T 9&TT B 2

(a) 9180
(b) 9360
() 9630
(d) 9840

ﬂﬁx:ya,y=zb3ﬂ'(z=x"%,?habcﬂqﬁ
FR?

(a) 1
b) 2
(e -1
d o

2Tﬁx=2+22"3+21/3%,?ha‘-'i\_rlil-?x3—6x2+6x
T HE =1 8N ?

(a) 2
b)) 1
e 0
d -2

XXYXX % &9 6! uig 37! $i ot gt 33
T fewfoa &t 8 2

(a) 1
(b) 3
(¢ 5
(d) I

8.

(2-A)

gre 3! 6l T §@IT XY235 &, 5 3/ faursy
B, TR XM YSHUUF & 3 & 6 X+ Y <5
21X V) wE % G I e
22

(a) 5
(b) 6
ey 7
d 9

afg x2 - 6x - 27 > 0 &, d F=fafad § @
HH-ET TS R ?

(a) —-3<x<9

b)) x<9TTx>-3

(¢) x>9qTx<-3

d HIAx<-3

&I 38808 o WISThi hl T&AT, fawmienl 1 3k
Qg 39 GE1 i SigH, fehal B 2

(a) 74

(b) 72

() 170

(d 68

qd WEIR % WEWA EWUEds  (HCF)
3R AYgaH THYE (LCM) 3H: (x + 3) 3K
x® - 9x% —x + 105) & | AR I ¥ TH Tg
x? —4x - 218, AN GEU 9gIG FA 2 ?

@ x2+2x-21
(b)) x2+2x+15
() x2-2x-15

d x2-x-15



1. The highest four-digit number which is
divisible by each of the numbers 16, 36, 45, 48
is
(a) 9180
(b) 9360
(e) 9630
(d) 9840

2. If x=y2 y=2z"and z = x°, then the value of
abc is
(a) 1
(b) 2
(¢ -1
d 0

8. Ifx =24+ 223 4 93 then the value of the
expression x3 — 6x2 + 6x will be
(a) 2
(b)y 1
(¢) O
(d -2

4. How many five-digit numbers of the form
XXYXX is/are divisible by 33 ?

(a) 1

(b) 3

() 5

(d) Infinite
GTHY-T-XMT

(3-A)

A five-digit number XY235 is divisible by 3
where X and Y are digits satisfying X + Y < 5.
What is the number of possible pairs of values
of X,Y)?

(a)
(b)
(e)

(d)

O == & O

If x2 — 6x — 27 > 0, then which one of the
following is correct ?

(a) —-3<x<9
b) x<9%orx>-3
(¢) x>9%9o0rx<-3

(d) x<-3only

The number of divisors of the number 38808,
exclusive of the divisors 1 and itself, is

(a) 74
(b) 72
() 170
(d) 68

HCF and LCM of two polynomials are (x + 3)
and (x3 — 9x2 — x + 105) respectively. If one of
the two polynomials is x2 — 4x — 21, then the
other is

(a) x2+2x-21
(b) x2+2x+15
(¢) x2-2x-15

d =x2-x-15



9. Hﬁaaﬂtﬁa}ﬂtﬁmﬁﬁwéﬁ
a+B=—%3ﬁ(aB=§- %,Gﬁl<p<q<r
B, a Fafafes § @ S ggaw & 2
(a) X
a+f
;I
(b) E+E
1
(c) —E
af
(d) kB
10. 3T FWHIR ‘A’ 3R B I U 91y e w s
H 5 d g fean | afe 4’ ave § R
wEgEd ¥ S R 0@ g wefwmar
Hr o gan, i B3 g o R srigman
¥ w TP SEh we-foes srfemar @ st
fora Bran, @ & 3 &7 & QU @ e | orben
‘A3 1 A foher T & g w2
(a) 3%%‘1
1
(b) 461%:
1
1
@ ezﬁq
1. 3R x6+xi6:k(x2+xi2} 2, @k Ry
T 2 2
() (x2—1+i2)
(b) (x4—1+i4]
x4 +i
(e) +1 X‘J
gh
® [(¢-1-2)
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12. 3 i warm wipfos wemett & el @

13.

14.

15.

(4-A)

AMTBA 110 B, o I A1 H ATHA 47
B 2

(a) 625
(b) 654
() 684
(d) 725

a‘I?Thﬁp@ﬁ'{q,Wﬁp>603ﬁTq>60%,3ﬂ
TOHEBA 7168 B R IAHT HEWH FHNEA®

(HCF) 16 8 | 37 G qUITehl T ANTheT 41 & ?

(a) 256

(b) 184
() 176

(d) 164

afe logyy 2 = 0:3010 3N log;y 3 = 0-4771 }, &
log; 0o (0-72) T A TehTeh SR § 2

(a) 0-9286

(b) 19286

() 1-8572

d) 18572

M b oo abe =12, 111
%1 7 fhmes s g 2 S
(a) -1

(b) O

) 1

(d 3



11.

GTHY-T-XMT (5-

If « and B are two real numbers such that

0L+B=-—g and aB:i,where l<p<q=<¥r,

then  which one of the following is the
greatest ?

(a)

@y . 2B

a+p

Two workers ‘A’ and ‘B’ working together
completed a job in 5 days. Had ‘A’ worked
twice as efficiently as he actually did and ‘B’
worked one-third as efficiently as he actually
did, the work would have completed in 3 days.
In how many days could ‘A’ alone complete the
job ?

1
3—d
(a) 5 days
(b) “—1l days
6 y
(c) 5% days
(d) 6‘l days
4 ¥
g, 1 o=+ 3
I x +—6=k X" i , then k is equal to
X X

(a) x2—1+;%)
(b) ;%}
(c) xF 414 ;14-]
@ ;%]

12.

13.

14.

15.

A)

If the sum of the squares of three consecutive
natural numbers is 110, then the sum of their

cubes 1s
(a) 625
(b) 654
(c) 684
725

(d)

The product of two integers p and q, where
p > 60 and q > 60, is 7168 and their HCF is 16.
The sum of these two integers is

(a) 256
(b) 184
() 176
(d) 164

If logyp 2 = 0-3010 and log,; 3 = 04771, then
the value of log;qo(0-72) is equal to

(a) 09286
(b) 19286
© 18572
(d) 18572

" If a* = bY = ¢Z and abc = 1, then the value of

1 4 1 i 1 will be equal to
X ¥ &

(@ -1

(b) O

fe) 1

d 3



16.

17.

18.
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a&aﬁﬁmax2+bx+c=0a5%§y

L 4 S HE T8 ?
aoc+b ap+b
a
(a) ‘lj,;
o
ac
c
(C) E
1
d b
G abe

@ o7 T i eI XYZ, YZX 3R ZXY &

ey ¥ fFafefaa weEt w fomm Hifse .

1. A # AR, (X + Y + Z) ¥ "
LR

2. &S H ITHA, 111 F HST 8 |

394 FAAT § A AV G 278 2

(a) had 1

(b) had 2

(¢) 13K 2@Ft

(@ Jar1dMAE2

3 @t W (m, n), & m 3 n 3@ THFL F
e 4 1oL 2
1 de foraft 7 2

(a) 6

(b) 5

(c) 4

(d 2

19.

20.

21.

22.

(6-A)

afe a = xyP~L b =yz0-1 ¢ = 2x" 1%, @
ad~TbHT P cP-9 T R § ?

(a) abc

(b)  xyz

(e) O

(d) 3I9IE | ¥ B TRl

T SRS 1 el i T 5 : 4 F AU
4R | Ik FAAHON kG H AR 9° R |
Frefafigs wuei w fa=m $ift

1. I ¥ T T9YS ? SR gE0 9TEW ¢ |
2. ITH ¥ TH YT B 37N qHU A B |
3. 3 STEl HIVI T INTHS 720° R |
S o A A T

(a) had 1

(b) had 2

(¢ 13K 3

d 233

ST 2x2 + 5x + 5 T AqH A F1 8 ?

(a) 5
(b) 15/8
() -15/8
(d o0
afe P 3 Q %1 BUHS Wiew H B, 1 %+%
T HE T 8 ?
(a) 1
b 2

P+Q
(C) P—Q

PQ

(d) P+qQ



16. If o and P are the roots of the equation
ax2 + bx + ¢ = 0, then the value of
1 1| -
- is
ac+b ap+b
a
(a) E
0y =
ac
c
(C) a—b
1
d o,
@) abe
17. Consider the following statements in respect
of three 3-digit numbers XYZ, YZX and ZXY :
1 The sum of the numbers is not divisible
by X+Y + 7).
2.  The sum of the numbers is divisible by
111.
Which of the above statements is/are correct ?
(a) 1lonly
(b) 2only
(¢) Both1land?2
(d) Neither 1 nor 2
18. The number of all pairs (m, n), where m and n
are positive integers, such that
1 1 1 .
— + = - — = —1i8
m n mn D
(a) 6
(b) 5
(c) 4
d 2
GTHY-T-XMT

19.

20.

21.

22,

(7-A)

If a=xyP~1, b=yza-1, ¢=2zx""1, then

ad—-Tbr—PcP~4 isequal to

(a) abc
(b) xyz
(¢ 0

(d) None of the above

The number of sides of two regular polygons
are in the ratio 5 : 4. The difference between
their interior angles is 9°. Consider the
following statements : '

1 One of them is a pentagon and the other
is a rectangle.

2.  One of them is a decagon and the other
is an octagon.

3.  The sum of their exterior angles is 720°.

Which of the above statements is/are correct ?

(a) 1lonly
(b) 2 only
(¢) land3
(d) 2and3

The minimum value of the expression

2x2 + 5x + 5 is

(a) 5

(b) 15/8
(e) -—-15/8

d o

If H is the harmonic mean of P and Q, then

the value of % + —g— is

(a) 1
(b) 2
P+Q
(c) PQ
PQ
(d) P Q



23. eI +1,+2, +3, +4 7 ¥ Th 9N § (27, U wlan #, 509 e sish § w1 7w, 409
HEIS H AR F o ot @9 ot fe=dt & % g 3 15% i fwalt & Wt g |

T IR T & 2 Teraq wfaera areeff S5 ot &=t ST & U
(a) O g2
(a) 20%
(b) -30
(b)  25%
(€ 30 © 60%
d 55 @ 75%

24, 9 3x® - 2x% - 13xy® + 10y® ®I (x - 2y) ¥|28. 100 m Tt TH WML, 100 m A T TIeHH
fowfsa fFan Smar 8, ot Svwa fras sueR H 10 THUE T IR H At ] | T i =91

BT 2 ? fpaft & 2
(a) I (a) 36 kmph
| (b) 45 kmph
b ¥
(c) 54 kmph
@, .g—o | (d 72 kmph
d y+3

29. TF HEfhd FOR AT I & YRS 20 km
%1 g 40 kmph F 39 =11 & T H T,

25. b+b =0 ’Eﬁ
g ab+be+ca=0 2 @mlgkm?ﬁ@mkmphﬁaﬁmw

(b? —ca) (c® — ab) + (a® —be) (c? - ab) + (a? — be) (b? - ca) H @@ Har 8, R onfEdt 30 km H gl
(@® — be) (b2 - ca) (c% — ab) 40 kmph FI Hd 91T ¥ 99 HaT B | 9 @
BT T R 0 AT I INTA =TT FAT R 2
(a) 20 kmph
@ -1 (b) 26-67 kmph
(b) 0 (e)  28-24 kmph
W ‘ (d 30 kmph
@ 2 30. TH BN HiE (1000 m) <l TH S H A, B !

%Zo;@m%,aagsooomﬁwm
26. 9§ goeA UM F= B, fm w af & 59 & ZH, C,DH 400 mH TG 8 | BH I D
Waﬁmmﬁgﬁ?zmm IS S WO | (A 4, B, C i

; D ueft wferifirarati # wwremm =er & ded 8) |
oHE Ife A 3 C, 6000 m & TH 2rg F qFT oA B,
(a) ¥ 2000 ' at Frfafea & & +-a1 wh T& B 2

(a) A, C®H250mY &dl 3

(b) ¥ 3200
(b) C, Al 250 m T & &

(c) ¥ 4000 (© A, CH 11538 m &1 2

(d T 4800 (d C,A® 11538 m T BT 2
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23.

24.

25.

The sum of all possible products taken two at
a time out of the numbers +1,+2,+3,+41s

(a O
(b) -30
() 30
(d 55

The remainder when
3x3 — 2x2y — 13xy2 + 10y3 is divided by
(x — 2y) is equal to

(a) Zero
(b) y

() y-5
d y+3

If ab + be + ca = 0, then the value of

(b2 — ca) (c? — ab) + (a2 — be) (¢ — ab) + (a? — be) (b? - ca)

(a2 - be) (b? = ca) (¢ — ab)

18

(a) -1
(b) O
(). 1
d 2
26. What is the principal amount which earns
¥ 210 as compound interest for the second
year at 5% per annum ?
(a) ¥ 2000
(b) ¥ 3200
(c) T 4000
(d) T 4800
GTHY-T-XMT

(9-A)

28.

29.

30.

27. In an examination, 50% of the candidates

failed in English, 40% failed in Hindi and
15% failed in both the The

percentage of candidates who passed in both
English and Hindi is

subjects.

(a) 20%
(b 25%
() 60%
(d) 75%

A train 100 m long passes a platform 100 m
long in 10 seconds. The speed of the train is

(a) 36 kmph
(b) 45 kmph
(¢) 54 kmph
@) 7%kmph

A cyclist covers his first 20 km at an average
speed of 40 kmph, another 10 km at an
average speed of 10 kmph and the last 30 km
at an average speed of 40 kmph. Then the
average speed of the entire journey is

(a) 20 kmph
(b) 2667 kmph
(¢ 2824 kmph
(d) 30 kmph

In a race of 1000 m, A beats B by 150 m, while
in another race of 3000 m, C beats D by 400 m.
Speed of B is equal to that of D. (Assume that
A, B, C and D run with uniform speed in all
the events). If A and C participate in a race of
6000 m, then which one of the following is
correct ?

(a) Abeats C by 250 m
(b) C beats A by 250 m
(¢) Abeats Cby 11538 m
(d) Cbeats Aby 11538 m



31.

- 32.

33.

GTHY-T-XMT

T fUdr, ©F A, T S W w st afvar
I Hiftan it 3y H AR 96 99 ¥ | G
JHER 1§l BIeT d5 7 | | av w0
S g3, a9 URER & |t gew H g w
AR 66 I A1 | ARG o frar A ey, @
$1 Fd9H g H 6 AT ], . A« F 12 I
aTe, Tuar i sy farat gnft 2

(a) 4479
(b) 459d
() 4698
@ 48§

‘A, ‘B’ I g § i1 T 3t Afie § iR
U W B QW HA § B H gor 10 e 9
AT 7 | IH HH B Ahed [ HA § B HI
fepam T @t 2

(a) 12
(b) 15
() 20
(d) 30

aeffed a1 oa Mm@ el @ de I
85wl § A, wyE § weh P v,
g H ASH hl A HGAT I 70% & | HaA
SSfiicy @ a1 dehl i TE, dew 6
&I H 50% & 3R defifed Wod 9 !
H FA T, AGHI ! FoT T FT 60% & |
+ad 8 Y Wl a1 s s HE, S
I HA T H 40% B 3R FA 12 7= W §,
S Sefied 3R 2o 2w gFT wer € | e

SSfiieT @ arelt wsfral it dea e & 2
(a) 14
(b) 16
e 17
(d 35

35.

(10-A)

34. T =k 7 forelt gpm & @ amgd X 3y

Gl | fashl 92 | vga qoui o AnTe T 130
AT | G X W HI3 foshl T or s g v
W 9% forshl &t o1 | fosht X Rt wiferer =t 39
=fth 3 T 13675 1 H THU BT WA AT |
fosht o Sre & Ut 9%g Y 1 o &9 o 7

(8l <75
(b) <85
(e) T 122

(d T125

1 ¥l i FHET F IHAR, ITh TS F
T T ST Uil Wl ST & iR aehr e
I q gAl W o T o wwer |fe feam s
2 | T® Iu =i, M 6l gy & et § 3k =
AU TS 1 3T feewT st foeat ueh %
T Sig STaT & 3R Sh W 39 WE U9 %
fog | 5@ T f gy A R}, 9% e SEg
& g fre s fwar et ¥ fm o
ST g SR SRl 1 3wt A/ % faw, S oend
g 2 | of 319 T 88,000 He¥ H G H
wiferss 2 | #ft st < SrErg W Per g feha
o ?

(a) ¥ 1,00,000
(b) ¥ 1,24,000
(c) ¥ 1,28,000

(d) ¥ 1,32,000



31.

32.

33.

GTHY-T-XMT

The sum of ages of a father, a mother, a son
Sonu and daughters Savita and Sonia is 96
years. Sonu is the youngest member of the
family. The year Sonu was born, the sum of
the ages of all the members of the family was
66 years. If the father’s age now is 6 times
that of Sonu’s present age, then 12 years

hence, the father’s age will be
(a)
(b)
(c)
(d)

44 years
45 years
46 years
48 years

‘A’ is thrice as good a workman as ‘B’ and
takes 10 days less to do a piece of work than
‘B’ takes. The number of days taken by ‘B’
alone to finish the work is

(a) 12
(b) 15
(e) 20
(d@ 30

Out. of 85 children playing badminton or
table tennis or both, the total number of girls
in the group is 70% of the total number of boys
in the group. The number of boys playing only
badminton is 50% of the number of boys and
the total number of boys playing badminton is
60% of the total number of boys. The number
of children playing only table tennis is 40% of
the total number of children and a total of
12 children play badminton and table tennis
both. The number of girls playing only
badminton is '

(a) 14
(b) 16
(e 17
(d 35

34.

35.

(11-A)

A person bought two articles X and Y from a
departmental store. The sum of prices before
sales tax was ¥ 130. There was no sales tax on
the article X and 9% sales tax on the article Y.
The total amount the person paid, including
the sales tax was ¥ 136-75. What was the
price of the article Y before sales tax ?

a) T8 .
(b) T 85

{e) T 122
@ <T125

According to Mr. Sharma’s will, half of his
property goes to his wife and the rest is
equally divided between his two sons, Ravi
and Raj. Some years later, Ravi dies and
leaves half of his property to his widow and
rest to his brother Raj. When Raj dies he
leaves half of his property to his widow and
remaining to his mother, who is still alive. The
mother now owns ¥ 88,000 worth of the
property. The total worth of the property of

Mr. Sharma was

(a) ¥ 1,00,000
(b) T 1,24,000
(¢) ¥ 1,28,000
(d) T 1,32,000



36. X7 g % 5@ hI 4 diael GO 3 Y GR H
E H T dad G | FR P @ H T
Siqe i Hima Aig % 5@ hl & Sqaq Fa
g R | 2T F9 oft 7 @la w e =
% 9 ¥ foau = 50 v @ =5 w @y firen
form 3t Fimd & e § SUSESK s
fn sz R ATH T 50 WA W, @
"R & @ I Th siaad i HiHd 741 2 2
(a) T75
(b) T50
(c) T 46
d) T30

87. T (10) 99 UE TH #i N @A Th F a1my
3:1% U | ot | 39 A 10 ¥ 51 ITH!
HTY T I 13 : 7 BN | Ih! FAUH AY
T R?

(a) 3979, 2199
(b) 55 a4, 25 99
(¢) 759N, 2599
(d) 4999, 31 a9

88. W3 (60) TSH! HI Th Ha H, 45 ASH IS
TaAd § R 30 e FEE Wed § | IR
HET H TAS ASH oFl Qo § d FI-3-59
T W avT @odl 8, d fhad @e® had
FHEIE Geld & 2
(a) 30
(b) 20
(¢ 15
@ 10

GTHY-T-XMT

39.

40.

41.

(12=A)

3 SR gURET, 5% 3R 4% F TURT w1
WIUR &t T | 4 96 F SW= FA =W
¥ 405 % TR AT | FeA fohal &7 I9R ot 18
oft 2

(a) < 1075
(b) ¥ 1100
(0 T 1125
(d) ?: 1150

SRE (12) =afw, wfafer 8 9 wm w@ § it
Th QO s°H H 3% 10 o7 g & | 3R
8 =Afth SYwey &, A HW I 8 fedl F g ww
& fou 3 wfafer frem w2 = & =ifRw 2

(a) 10%e

(b) 129
(0) 1592
d 189

TH g 94 A 4 T 850 Wl oftet it @ &
28 Tt gy @liqr | 3| $ THI fie % e
364 39 fgor &t s g woaw fan | R

FHHN AN 12:5% & W 364 Topan aRt fireman 2
(a) 45X

(b) 4R

() 357X

d 3t



36. X bought 4 bottles of lemon juice and Y bought
one bottle of orange juice. Orange juice per
bottle costs twice the cost of lemon juice per
bottle. Z bought nothing but contributed ¥ 50
for his share of the drink which they mixed
together and shared the cost equally. If Z’s
¥ 50 is covered from his share, then what is
the cost of one bottle of orange juice ?

(a) =75
(b) 50
(¢} .- T 46
(d T30

87. Ten (10) years before, the ages of a mother
and her daughter were in the ratio 3 : 1. In
another 10 years from now, the ratio of their

_ages will be 13 : 7. What are their present
ages ?
(a) 39 years, 21 years
(b) 55 years, 25 years
(¢) 75 years, 25 years
(d) 49 years, 31 years

88. In a class of 60 boys, there are 45 boys who
play chess and 30 boys who play carrom. If
every boy of the class plays at least one of the
two games, then how many boys play carrom
only ?

(a) 30
(b) 20
(¢) 15
(d 10
GTHY-T-XMT

39..

40.

41.

(18 =4

Two equal amounts were borrowed at 5% and
4% simple interest. The total interest after
4 years amounted to ¥ 405. What was the
total amount borrowed ?

(a) < 1075
(b) ¥ 1100
(¢ < 1125
(d) ¥ 1150

Twelve (12) men work 8 hours per day and
require 10 days to build a wall. If 8 men are
available, how many hours per day must they
work to finish the work in 8 days ? -

(a) 10 hours

(b) 12 hours

(¢) 15 hours

(d) 18 hours

A milk vendor bought 28 litres of milk at the
rate of ¥ 850 per litre. After adding some
water he sold the mixture at the same price.
If his gain is 12-5%, how much water did he
add ?

(a) 4-5 litres

(b) 4 litres
(c) 3-5 litres

3 litres

(d)



42. T uS! # e it g3, od Ty & feaw @

43.

44.

45.

GTHY-T-XMT

(b)
(c) T % WX ¥ 60 km i

(d)

T&% 72 e & o1g, = g5 & o fiee
STt B | A Ty % fRme 8w 9 § 9'
ot fopa m, @ a1 3m, & Sef 2

(a) 121% fime 4w

(b)
(© 121 fime am

(d)

T =R fret X F @ U wR B gU, A
40 kmph ! ITA I hL WIT S7GT 8 | 9 =
STG =} %1 9al STl 8 3R R HT Hifelsh g
B fopelt 3R %R o 60 kmph &1 =Ta & IR &7
UIS1 LTl & | JTfcish, IR % T e &8I 2
(a) It % B H 55 km I gt W 3 I
* T He 91g

ATt % T H 60 km H gl W 3R =i
% 15 ©e 91g

gt W 3 9l
1 901 @ * 1-5 T2 9IC

ArfeTsh % B ¥ 55 km i gt W 3 =il
% 1-5 52 9Ig

X 3R Y qH1 fieret T %W @l 6 for # qu aw
Tehd @ | 3ThaT X I FW A 12 o # g
THaT 7 | 3EH FW B @@ FA F S Y H
feramT T = 2

@ 16f@

® 12f&

© 10fw

@ 8fs

9RE (12) A TF AW 10 HHU H 16 foT &
Y2 L Thd & | 8 Itk EH YR F 20 FE

H P A a2
(a) 12
(b) 24
() 36
d) 48

46. (02)" % WH # e forg % qid W18 n Y=

47.

(14-A)

& | T fe mm % 6 logy 2 = 0-30103 2 |
n 31 T FT 8 ?

(a) 25
(b) 19
() 18
(d) 17

T fUar ot g 1 g % Iree I i &
I 11:3 2 | Frafafes sl w fEmw
Hifse

1. ITh! 3TTY T AU 8:5 2 |

2. O I IGH qGHH Y F T AG H A
aﬁw:ﬂﬁ:mgwaﬁman:sml

ST HU ¥ BH-AVA wE A 2
(a) wad 1 |

(b) Had 2

(© 13 23M

(d TM13mId2

48. as smfy=mredt x+y253ﬁ'(x—~y53$[36

el ey g 2

(a) <had Jom wguty

(b) S 3R feefta sgatet #
(@ fedfrr o geftar wgatst &

(d) g 3 =gel aguta o



42. The minute hand of a clock overtakes the hour
hand after every 72 minutes of correct time.
How much time does the clock lose or gain in a
day of normal time ?
(a) Losel21 2 minutes
i §
(b) Lose 1571—11- minutes
(¢) Gain 121 % minutes
(d) Gain 157% minutes
43. A thief steals a car parked in a house and goes
away with a speed of 40 kmph. The theft was
discovered after half an hour and immediately
the owner sets off in another car with a speed
of 60 kmph. When will the owner meet the
thief ?
(a) 55 km from the owner’s house and one
hour after the theft
(b) 60 km from the owner’s house and
1-5 hours after the theft
(¢) 60 km from the owner’s house and
1-5 hours after the discovery of the theft
(d) 55 km from the owner’s house and
1:5 hours after the theft
44. X and Y together can finish a job in 6 days. X
can alone do the same job in 12 days. How
long will Y alone take to do the same job ?
(a) 16 days
(b) 12 days
(¢) 10days
(d) 8days
45. Twelve (12) persons can paint 10 identical
rooms in 16 days. In how many days can
8 persons paint 20 such rooms ?
(a) 12
(b) 24
(c) 36
(d) 48
GTHY-T-XMT

46.

417.

48.

(15—A)

There are n zeros appearing immediately after
the decimal point in the value of (0-2)25. It is
given that the value of log;y; 2 = 0-30103. The
value of n is

(a) 25
(b) 19
() 18
(d) 17

The ratio of the sum and difference of the ages
of the father and the son is 11 : 3. Consider the
following statements :

; 7t The ratio of their agesis 8 : 5.

% The ratio of their ages after the son
attains twice the present age will
be 11 : 8.

Which of the statements given above is/are

correct ?
(a) 1only
(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

The solution of linear inequalities x + y 2 5

and x —y < 3 lies
(a) Only in the first quadrant

(b) In the first and second quadrants
(¢) In the second and third quadrants

(d) In the third and fourth quadrants



49. =8 fem mn } 5wl 2 - 32 = 0 ai| o o Ao 04 (SR) e ¥ R RrfiRe
(x—a)% + y% = 1 1 Thd GATHH §A 8 | 39 | 0 Foramm e

1T 2’ &1 A /T R 2

Heq XII ! T wien 7, 559% foeneff e fogm
4 U §Y, 62% fowre § U@ g, 60% WEANE
(@ V2 T qY, 25% s oft Sha o # ww g,
- 30% Wfeehure ot wEEwTE § U g, 28%
(b) 2 » St forsr 3t e # w gu | e 29 T
| e § e g

© -2 51. fopaa ftrera fereneff woft i foreeit 2 et g 2

@ 6

d 1 (b) 5
' (o0 4

d 3

52. T vfowm foemefi dods = favg § um

7C ?
50. 9 o, p 3N y 9798 fix) =ax + bx® + cx +d (a) 21
. ' (b) 23

I 8, @ o2 + p2 + 42 Fpuh s R 2 WS B

@y oy

< Pl 53. =f} faenffai < dem 360 2, @ wwAFH A
() 5 fersart 3 foram feremeff urer 5w 2

(a) 270

(b) 263

() 265

(d) 260

54. Wifaare R wWEHTE 2F # 9" g A
frenfiet &t den w1, S| fagm ik

b2 + 2ac ﬁm@ﬁﬁwﬁﬁmﬁﬁ
b? 9 B A faenfdet it s @, U =

??

(a) 7:10

b2 - 2ac () 10:7

a’ e 9:7

d 7:9

(b)

(c)

@

GTHY-T-XMT (16-A)



Consider the following for the next 04 (four)
items that follow :

In an examination of Class XII, 55% students

passed in Biology, 62% passed in Physics, 60%
passed in Chemistry, 25% passed in Physics and

(a) 2 Biology, 30% passed in Physics and Chemistry, 28%

49. It is given that the equations x2 — y2 = 0 and
(x — a)? + y2 = 1 have single positive solution.
For this, the value of ‘a’ is
(b) 2
51.
© -2
d 1
52.
50. If o, p and y are the zeros of the polynomial
fix) = ax3 + bx2 + cx + d, then o + B2 + y2 is
equal to
53.
bZ —ac
(a)
a2
2
-2
b) b ac
a
54.
b2 42
© i ac
b
b° -2
€Y e
a

GTHY-T-XMT (17—=A)

passed in Biology and Chemistry. Only 2% failed in
all the subjects.

What percentage of students passed in all the
three subjects ?

(a 6
(b) 5
(c) 4
d 3

What percentage of students passed in exactly
one subject ?

(a) 21
(b) 23
(0 25
(d) 27

If the number of students is 360, then how
many passed in at least two subjects ?

(a) 270

(b) 263
(¢) 265
(d 260

What is the ratio of number of students who
passed in both Physics and Chemistry to
number of students who passed in both
Biology and Physics but not Chemistry ?

(a) 7:10

(b) 10:7
(c) 9:7
d 7:9



55.

56.

57.

58.

GTHY-T-XMT

ferelt wrex # Bieetl & Sofiestor =1 @9 () e
R AT 14T B ?

(a) e AT (AT Thet)

(b) SHHEE ATIH (ATTETeT Thet)

(c) TS A (Setdd Thet)

(d) 9 "o (3 =he)

AT A & 3fHd 37k 65 B 3N UM B %
g 37 70 § | A QT guri i firem &
¥ 3iEd 37 67 B &, al U A % BEl H
TEAT 1 FIATT B & DT h €GN ¥ I
F1 R ?
@ 3
® 1
(g 8:
@ 2

O = W N

19 Jequit <t wifedrenr (fifes=) 30 & 1 & ik
YT foTu S @ 3 39 9 8 31k 32 % | o
21 eqont <t ATfEdeRT =T B 2

(a) 32
() 30
(e 20

(d) A9TH g () &% HRo Fyifia 78 fmar
ST Hehal

S8 & Ja ot ol (Femdw) 1w wed
8, Toret IRERaT Y &1 3THR

(a) TIdgR BN i ¥ TEar 3

(b) feremIfes fsanior B9 <t Jaftr w@an @
(c) T& =1 @l B

(d) waet aoff ufafda &ar & afe <= ()
J9eTRd Al favasia & mar &

59. HH WiNT x; 3N %, (& %, > x;) FHEW:

60.

(18—A)

n; 3R n, (ST&T ny < n,) Vol Tt S =T
S Oed 8 | Ife 3% fyen S w Ay x B, @
Frafafaa 4 @ s w8 2 2

(@) X <X <X
(b) X > 1_(2
(c) X< il

(d)

(%)~ RI#(Fy —%)=0

f=feiga et o fa=m i

FYTI :

HifeeRt a9 ot ufesfera 1 ST Tl @ s fredt
TRERAT S o SR e foge & |

FYT 11 :

mﬁwwf@nﬂuaﬁw% |
wﬁﬁm%é@ﬁﬁm%féaﬁﬁﬁm
U Hel 8 ?

(a) HYT I W HIF 11 31 g & 3w
II, % 1 hl €81 e &

HYT 1 3R A I gA1 T&l & 3R FHaa
II, %o I I T8 =ImeT 781 &

(b)

() HYF IHE & W HA II ToAd &

(d) YT 17T 8 W HIF 11 981 2



55.

56.

57.

Data on ratings of hotels in a city is measured
on

(a)
(b)
(c)
(d)

Nominal scale
Ordinal scale
Interval scale

Ratio scale

The average marks of section A are 65 and
that of section B are 70. If the average marks
of both the sections combined are 67, then the
ratio of number of students of section A to that
of section B is

(a) 3:2
(b) 1:3
&) 3%l
d 2:3

The median of 19 observations is 30. Two
more observations are made and the values of
these are 8 and 32. What is the median of the
21 observations ?

(a)
(b)
(c)
(d)

32
30
20
due to

Cannot be determined

insufficient data

58. As the number of observations and classes
increases, the shape of a frequency polygon
(a) Tends to become jagged
(b) Tends to become inéreasingly smooth
(c) Stays the same
(d) Varies only if data become more reliable
GTHY-T-XMT

59.

| 0.

(19-A)

Let X; and X, (where Xy > X;) be the means
of two sets comprising n; and n, (where
ng < n,) observations respectively. If X is the
mean when they are pooled, then which one of

the following is correct ?

(a)

X1 < X < Xg

(c)

i<i1

d (X -X)+(Xg -%X)=0
Consider the following statements :

Statement I :

Median can be computed even when the end
intervals of a frequency distribution are open.

Statement II :
Median is a positional average.

Which one of the following is correct in respect
of the above statements ?

(a) Both Statement I and Statement II are
true and Statement II is the correct

explanation of Statement I

(b) Both Statement I and Statement II are

true and Statement II is not the correct

explanation of Statement I

Statement I is true but Statement II is
false

(e

(d) Statement I is false but Statement II is

true



61. 2Tﬁcos(il=L E%,?ﬁ

G
forae st 2 2

,Gﬁ'{f0<6<

2tan 6

1-tan? 0
(a) 4/3
(b) -—4/3
(e} 1/3
@ -2/3
?ﬁ% O<9<90°,0<¢<90°3:ﬁ'( cosG<cos¢%,
ar fF=fofaa @ @ 991 T 91 8 ?

(a) 0<¢

(b) 0>¢
(©  0+¢=90°

d) i3 Frsed 98 Frepren ST Fehar

ﬁmaﬁ@aﬁiﬁwrtw%?ﬁﬁwh
SIS ISl U HS1 O B | 9 % U faeg @
S % MY 1 IAH R 30° B | Treig il 3R
d gt = % W15 W& a% w1 W e T
@, 3T BV 45° 8 | F&T h A r 1 LI
TohEeh ST B 2

J2 -1

J§+1
X0

4B +1
242

V3+DH2 -1
272

W?ﬂﬁl’@;sm(A+B)_ J_ 3 co
?, W& A, B =50 § | tan(2A

TR R ?
(a) 1/2
(b)

(c)

62.

63.

(a)

(b)

(c) d

G
J§

I—‘&|Ha

(d)

GTHY-T-XMT
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65.

66.

67.

(20-A)

- Frafafaa st w fomm FHifse

1 aﬁ cos 0 M cos-e =4,t§|—gﬁ

l1-sin® 1+sin®
0<0<90°8, dl 6 =60°.

-

2. AR 3 tan O + cot 0 = 5 cosec H, &I

0<0<90°8, a 6 =60°
SUYT HEl A A HH-AVA TV 2
(a) ad 1
(b) had 2
© 13 23Mi
(d ddr 13RI 2

frefRad o w foem Hifve -

2 2 :
1 cos26=1—-——p2Jrq ,WP,QW
Pq
Jrfas TEAT 8, hae a¥l gve & &«

P=4q.

2. tan20=

11, &l p,q WX
(p+q)
Tl GEIU &, Shad afl 999 & 99

p=gq.
STk oAt o ¥ HEEA Td 3R 2
(a) aﬁlﬂl

(b) <hae 2

(¢) 13X 2aHl

(d Ta1RTE 2

Fr=fafaa st w fa=r Fifs .

1. cos® + sec 0 M i 1.5 F wUsT & A
GehT | :

2, secze+cos,ec297=ﬁ“ﬁ‘Fﬂ4@$1:{:|€f3.>T
GohdT |

3ugh ol @ HE-EVA wE A 2

(a) ohad 1

(b) <had 2

(¢) 13 2aMl

(@ Tar1dRTE2



1 n
61. If cos =——, where 0<0<—, then
J5 2
—2-% is equal to
1-tan® 0
(a) 4/3
(b) -—4/3
(¢ 1/3
(d) -2/3
62. If0 <0 <90°0 < ¢ <90° and cos OB < cos ¢,
then which one of the following is correct ?
(a) O<¢
(b) 6>0¢
(¢) O0+¢=90°
(d) No conclusion can be drawn
63. On the top of a hemispherical dome of radius
r, there stands a flag of height h. From a point
on the ground, the elevation of the top of the
flag is 30°. After moving a distance d towards
the dome, when the flag is just visible, the
elevation is 45°. The ratio of h to r is equal to
(@ +2-1
(b) J8 41
242
© J3+1 d
22
@ WB+DG2-1)
22
64. Letsin (A +B)= g and cos B = % , where
A, B are acute angles. What is tan (2A — B)
equal to ?
(a) 1/2
b V3
1
gl —
J3
d 1
GTHY-T-XMT

65.

66.

67.

(21-A)

Consider the following statements :

cos 0 5 cos 0
1-sin® 1+4sin®6
0 <06 < 90°, then 6 = 60°.

1. =l

=4, where

2. If 3 tan O + cot © = 5 cosec 6, where
0 < 6 < 90°, then 6 = 60°.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2 only
(¢ Both1land?2
(d) Neither 1 nor 2
Consider the following statements :
2 2
1. e T T . where p, q are
2pq
non-zero real numbers, is possible only
when p=q.
2. tan29=—4p—q7—1, where p, q are
(p+q)
non-zero real numbers, is possible only
when p = q.
Which of the statements given above is/are
correct ?
(a) 1only
(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

Consider the following statements :

1. cos 0 + sec O can never be equal to 1-5.

2. sec? 0 + cosec? O can never be less than 4.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(¢) Both1land2
(d) . Neither 1 nor 2



68. IC sin?x+sinx=1%, @
cos!?2x + 3 cos®x + 3 cos® x + cos® x &1 HA
TR ?

(a) -1
) 0
fe): -1
(d 8

69. I 3sin0+5cos0=4%, @l
(3 cos O —5 sin 0)2 T HIF T 8 ?

(a) 9
b) 12
(c) 16
@ 18

70. Ife cot 0 (1 + sin 0) = 4m 3R
cot 0(1 — sin 0) = 4n 8, o F=faflgs ¥ @
-9 Tk 981 8 ?

(a) (m2+1n2)2=mn
(b) (m2-n2)2=mn
(¢) (m?2-n2)?2=m2n2
(d) (mZ+n2)2=m?2n?

71. i T wHp Bye o1 smur 3R %l s
(uz—vz)aﬂ?(u2+vz)%, @Tﬁ‘jﬁw A%
2016 7 313 8, o By i ity forat 2 2
(a) 224TFT8
(b) 288 THTE
(c) 448FTS
(d) 5763HT

72. 1 @S H ST A foeet wwemg e § ©
Y B | 3 Fagd H w4 ared fenet off Sfaiq
T T A% fohaHT B 2

12
(a) ?
V312
(b) .
l2
(c) I
; 12
d B
(d) 5
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73. THEAH 5 AU HI dar (Sdi o wul #

74.

75.

(22-A)

Big) fomehl wmarg, e o S9 waw:
6m,4m3ﬂ'{2-5m§,ﬁ7€7ﬁm¢ﬁ%|‘ﬁ?
H T H, 3 B OH TS T T FNER
flageht 8 St I o1 25 m 2 | U< Faw
1 &t & fesai # & Syerey § 3k 1 oot U=
# 20 T "X &% U fpar ST whaT R 1 A=
H & fore arravaes fesal 6 g faat & 2
(a) 10

(b) 12

(¢ 18

(d)
A T S Th @Widw wqde @ S @Hiw

=S T wed forgadl ol Sirget svmn mn § |
Fr=fafaa ot = e Hifv :

1L T % 895 3R S & &% * UM
2:1% |

2. S 9HM, T % fIwu & Sea 1
3R |

39T S | HH-AVA T 2R 2

(a) Had 1

(b) e 2

(¢ 13 2gHf

d JTa1WTE2

14

Qﬁﬁgﬁﬁ‘ﬂﬁﬁ5cm,6cm3ﬂ'{7cm§|

Tyt 1 St @ foha 2 2
(a) 14-9 cm?
(b) 14-7 cm?
() 145 cm?
(d) 143 cm?



68. Ifsin? x + sin x = 1, then what is the value of
cos!? x + 3 cos1® x + 3 cos® x + cos® x ?
(a) -1
(b) O
& 1
(d 8

69. If3sin 0+ 5 cos O = 4, then what is the value
of (3 cos 0 — 5 sin 0)2 ?
(a) 9
(b) 12
(c) 716
(d 18

70. If cot®(1+sinB) =4m and
cot © (1 — sin 6) = 4n, then which one of the -
following is correct ?

(a) (m2+1n2?2=mn
() (m2-1n2)2=mn
(c) (mZ v n2)2 = m2n2
(d (m?2+n?)?2=m?2n?

71. If base and hypotenuse of a right triangle are
(u2 — v2) and (u? + v2) respectively and the
area of the triangle is 2016 square units, then
the perimeter of the triangle may be
(a) 224 units
(b) 288 units
(c) 448 units
(d) 576 units ‘

72. - A circle is inscribed in an equilateral triangle
of side of length /. The area of any square
inscribed in the circle is

l2
(A) ==
2
(b) V3 L
4
2
&
2
(d) F
GTHY-T-XMT

73.

74.

75.

{ 28~}

Walls (excluding roofs and floors) of 5 identical
rooms having length, breadth and height 6 m,
4 m and 2-5 m respectively are to be painted.
Out of five rooms, two rooms have one square
window each having a side of 2-5 m. Paints are
available only in cans of 1 litre; and 1 litre of
paint can be used for painting 20 square
metres. The number of cans required for

painting is
(a) 10
(b) 12
() 13
(d) 14

Let S be the parallelogram obtained by joining

the mid-points of the parallelogram T.

Consider the following statements :
1. The ratio of area of T to that of Sis 2 : 1.

2. The perimeter of S is half of the sum of
diagonals of T.

Which of the above statements is/are correct ?

(a) 1lonly
(b) 2only
(¢) Both1and?2

(d) Neither 1 nor 2

The sides of a triangle are 5 ¢cm, 6 cm and

7em. The area of the triangle is
approximately
(a) 14'9 cm?
(b) 14-7 cm?
(¢) 145 cm?
(d) 14-3 cm?



76.

17.

78.

79.

GTHY-T-XMT

T T qEe e &a%d 1447 m2 B, F
IRl 3R 5 m A H Th g 9 & | AR
HAR % 99 H GAATAG FF I @S H FA
Shet fohaaT B 2
(a) 3497t m?
(b) 2897 m?2
(¢) 2097 m2
(d) 1497 m2

TF WF H IR YR HAFA 462 cm? B |
3uht fet F98 35 cm B | WiH F UR i
e wn g 2

(a)
(b)
(¢) 42cm
(d)
T YT = Hl AUH (U Hh) Th
YFTHR IS ST I 2 | WP b b AR
& % 1= HT AR fohaT B 2

(a)
(b)
(c)
(d)

@@Hﬁa-ﬂ?ﬁﬁaﬂqiﬁmncmglqﬁ
EH U gEE EThd 3 $A IR
STFA H YT ], d e IUR HI e
fopat 8 2

(a)

84 em
6-5 cm

3'2cm

60°
45°
30°

15°

/2 cm
(b)

T cm

() 1/mem

(d)

2/m cm

80.

81.

82.

83.

(24-A)

20cmFIWT§, 15cm7=ﬁ€,'|§3'-ﬂ'(10cmmalﬁ
T ARAHER sdAE H OSSR T H G
A H I AT ] | T T = a9 g
=11 gt 2

(a) 12
(b) 16
(e 20
(d 24

Ifg weh w9 % foerol Y E 17, 9 36w W

FA TS &HA foheT R 2
(a) 312
(b) V31°
(& 2I%
Gy

Th E"“'Eﬁ'ﬂ‘ﬂ,@aﬁ@?@ﬁwqﬁw
SO B | AR T, S 3K C oaw: By 1 &%,

1 1 GABA IR I H AAb S F E,
@ Frafafes & & *Rar A R 2

(a) T«8<C

(b) S<T<C

() C=x8«T

d TzE€<S

3 THEY TSl % BB AT (7 — 443 ) cm?
R (7 + 44/3) cm? & | IAH T YA

FIIT TR ?

(a) 7-443
b 7-843
(0 5-43
d 5+43



76. There is a path of width 5 m around a circular
plot of land whose area is 144n m2. The total
area of the circular plot including the path
surrounding it is
(a) 3497 m?

(b) 289m m?2
(¢) 2097 m?
(d) 1497 m?

77. The lateral surface area of a cone is 462 cm?.
Its slant height is 35 cm. The radius of the
base of the cone is
(a) 84cm
(b) 6:5cm
(c) 42cm
(d 32cm

78. A semi-circular plate is rolled up to form a
conical surface. The angle between the
generator and the axis of the cone is
(a) 60°
(b) 45°
(¢) 80°
(d) 15°

79. A solid right cylinder is of height © cm. If its
lateral surface area is half its total surface
area, then the radius of its base is
(a) n/2cm
(b) mem
(¢) 1/mecm
(d 2/nem

GTHY-T-XMT

80.

81.

82.

83.

(25-A)

A rectangular block of length 20 cm, breadth
15 ecm and height 10 cm is cut up into exact
number of equal cubes. The least possible
number of cubes will be

(a) 12
(b) 16
() 20
(d) 24

If the diagonal of a cube is of length [, then the
total surface area of the cube is

(a) 312
(b) 312
e 212
@ 22

An equilateral triangle, a square and a circle
have equal perimeter. If T, S and C denote the
area of the triangle, area of the square and
area of the circle respectively, then which one
of the following is correct ?

(a) T<S<C
(b 8<T<C
(&) C<8=T
(d}y - T<C<S

The areas of two similar triangles are
(7T—4+/3)cm2 and (7 +4+/3)cm?

respectively. The ratio of their corresponding

sides is
W G443
(b) 7-343

(@) B—+3
d) 5++3



84. U gu i Sia1 qh B ft /3 TR | 9

85.

86.

Sfrar grr oy =9 W SAaika fRam m s, e
919 T Iafd fRT TT T H kAT R | k W
T F R ?

(a) 5
(b) 2
(¢ 1/2
(d 1/5

T Y ABC ®, Y98 AB, AC WgI8 Wt &
3R £ ABC 3R £ ACB % ST&I iUl & gy
D W Ufd=eg d 8 | A ~ BAC = 50° 8, dl
2 BDC forueh sst 2 2

(a) 115°
(b) 65°
() 55°
(d) 40°

3 W3t H SergAr 1:3% U@ # & | IR
I YW H BT 3:1 F U H ¥, @
3ok ATIAHT T ST FIT BT 2

@ 121

b) 2:1

(¢  3:1

() - 8z

87. A Q¥ @l AB 3 D fog 0 W 3@ y&K

GTHY-T-XMT

gfesg it & f6 L AOC=5 2 A0DE, @ O
W S 9T IR I R 2

(a)  40°, 40°, 140°, 140°
(b)
(¢)  380°,45°, 75° 210°

(d)

30°, 30°, 150°, 150°

60°, 60°, 120°, 120°

88. I ww fog P 8 R war & fF @ Fem

89.

90.

(26-A)

forgatl A 3 B & swehl giai & ot 1 ArThe

o R, @ fag P faguar e 2 2

(a) U A @I

(b) TH A

(¢) AB w9 fguris
(d) UH @S T

af¥ ABC U T iy § Tl AC ST i
;A Feffaa i S o wdi 2 2

(a) AC®<AB?+BC3
(b) AC3>AB3 +BC?
¢ AC®<aAB?+BC3

d AC®>AB%+BC®

TF UH &F T SA% fohaT 8, I o1&l §9 I
2a cm H YT 9 Th I F GReg B 3K
it €9 & TH T 99 Y Iiwg ¢ I 9 A
$ IR gonedt i wasf A @ 2

(a) (4-ma?
(b) (n—2)a2

(¢ (8-ma?/2

(d) (n-2)a2/2



84. The chord of a circle is \/§ times its radius.
The angle subtended by this chord at the
minor arc is k times the angle subtended at
the major arc. What is the value of k ?

(a) b5
(b) 2
() 1/2
d 1/5

85. In a triangle ABC, the sides AB, AC are
produced and the bisectors of exterior angles
of ~ABC and ~Z ACB intersect at D. If
Z BAC = 50°, then £ BDC is equal to
(a) 115°
(b) 65°
(c) H5°
(d) 40°

86. Two cones have their heights in the ratio 1 : 3.
If the radii of their bases are in the ratio 3 : 1,
then the ratio of their volumes will be
(a 1:1
(b 2:1
e . 3:1
d .- 9:1

87. If two lines AB and CD intersect at O such
that £ AOC = 5 £ AOD, then the four angles
at O are
(a) 40°, 40°, 140°, 140°
(b) 30°, 30°, 150°, 150°
(e) 30°,45° 75°, 210°
(d 60°,60°, 120°, 120°

GTHY-T-XMT

88.

89.

(27-A)

If a point P moves such that the sum of the
squares of its distances from two fixed points
A and B is a constant, then the locus of the
point P is

(a) A straight line

A circle

(b)

(c) Perpendicular bisector of AB

(d) An arbitrary curve

If ABC is a right-angled triangle with AC as
its hypotenuse, then which one of the

following is correct ?

(a) AC®<AB®+BC®
) AC®>aB?+BC?
(¢ AC®<AB®+BC?
@ AC®>AB?+BC?

The area of the region bounded externally by a
square of side 2a cm and internally by the

circle touching the four sides of the square is

(a) (4-ma?

(b) (n—2)a
© (8-ma2/2

(d)  (n-2a%2



91. 9= & 7 I #, ABC U gl Biyw B
&l £ A =90°, AB = p cm 3R AC =qem® |
fyst & IF gonetl B T A 3w
g e § S 5 ompfa # femmn w2 |
BHEIfehd U &1 &%, a1 cm H, TohaaT 8 2

§A@
B C
(a) pq
() n(p? + q2)/2
(¢ mp?+q?
(d) pag/2

92, = & T afa #, 99 hI B 6 em B, 3K

AT =4cm® | T9EI@T PT <l &«1g fohat 8 2
p
@T
(a) 6cm |

(b) 8cm
(¢) 9cm
(d) 10cm

93. :ﬂ%aﬂg?ﬂ'@%ﬁ,!)cmﬁwaﬁ@ﬁﬂ ‘
=E ABCD ? | AB, BC 3iT CD s{«{ &g
% & | AB 3R BD &l =¥ e 14gd @ie g
2 S T omepfa § fo@mn man 2 | SwfRa wm
T SABA FT 8 ?

(a) 9n
(b) 27n
(c) 36n
(d) 8i=n
GTHY-T-XMT

94, = & S aepfd H, £ BCD fohash st=t 2 2

95.

D

A C
\'
B ;
(a) T70°
(b) 75°

(c) 80°
(d) 90°

= @ T ampfa H, AB 3@ g9 w1 AW B
o &% g O W 2 | fear m & T
Z ECD = 2 EDC = 82° &, @ ZCEF 3R
# COF ShHYT: 991 8 ?

(a) 32°,64°
(b) 64°, 64°
le) - 329,382°
(d) 64°,32°

96. = & T pfd H, AABR~APQR 2 | 3R

(28-A)

PQ=3cm,AB=6cm,BR=8-2cm3:ﬂ'{
PR=52cm &, d QR 3T AR SHAS: T & 7

(a) 82cm, 104 cm
(b) 4:1cm,6cm
(¢) 26cm,52cm
(d) 4-1cm, 104 cm



91. In the figure given below, ABC is a
right-angled triangle where £ A = 90°,
AB = p cm and AC = q cm. On the three sides
as diameters semicircles are drawn as shown
in the figure. The area of the shaded portion,
in square cm, is

A
B C

(a) pq
() n(p?+g?)/2
(© n(p?+q?)
(d pg/2

92. In the figure given below, the radius of the
circle is 6 cm and AT = 4 cm. The length of
tangent PT is :

P
g e

(a) 6cm
(b) 8cm
(¢) 9cm
(d 10cm

93. In the figure given below, ABCD is the
diameter of a circle of radius 9 em. The
lengths AB, BC and CD are equal. Semicircles
are drawn on AB and BD as diameters as
shown in the figure. What is the area of the
shaded region ?
(a) 9n
(b) 27n
(¢) 36n
(d) 81=n

GTHY-T-XMT

94.

95.

96.

(29-A)

In the figure given below, what is £ BCD

equal to ?
D
A WW C |
\'
B
(a) 70°
(b) 75°
{e) . 80~
(d) 90°

In the figure given below, AB is the diameter
of the circle whose centre is at O. Given that
Z ECD = Z EDC = 32°, then ~ CEF
£ COF respectively are

and

/F%
A B
.

D

(a) 32° 64°
(b) 64°, 64°
(c) 382°,32°
(d) 64°, 32°

In the figure given below, A ABR ~ A PQR. If

PQ =3 cm, AB = 6 cm, BR = 82 cm and

PR =52 cm, then QR and AR are respectively
P

B\/R/\ Q
A
(a) 82cm, 104 cm
(b) 41cm,6cm

(c) 26cm,52cm
(d) 4-1cm, 104 cm



97. H2 & 7 sfa #, ABC ws fiyw 2 fyEd AB,

BC W @9 & | 39% 3ifafish BD, AC R &« & |
Ife AD = 9c¢m 3 DC = 4 cm &, @ BD &l

99.

NEIHED IR

B

(a) 13/36cm

(b) 36/13 cm

() 13/2cm

(d)

6 cm

98. H¥ & W fa #, 9 I FNfgW F =W

108 cm B | SRR &5 o HIhA T 8 2

«<— 5H4cm —><— H4cm —

(a) 201rncm?2

(b) 186-3% cm?
(¢) 4057 cm?

(d) 769-5n cm?

GTHY-T-XMT

(30-A)

100.

2 & w8 amgfa #, ABC wF @wag Biyw R,
et 9% Y1 30 cm & H 8 | XY, BC

& TR 8, XP, AC & THIRR § 3 YQ, AB
F TEFR 2 | AR’ XY + XP + YQ, 40 cm B, @1
PQ T U 1 8 ?

A

TANETAN

B P Q C
(a) bHcm
(b) 12cm
(¢ 15cm
(d 10cm

F= €t 73 3Rfd H, ABCD, 4 cm %l ST 911
@aﬁ%laﬁﬁﬁﬁzcmmmﬁwﬁ
% Fguiy g1 fou 9 € 3R 2 em =W ATEN
wh ga ot g1 fem Smar 2 | SwEifea &9 ®
SAB T & ?

C

7
;

A B

(a)

(b)

(c)

(d)



97.

98.

GTHY-T-XMT

In the figure given below, ABC is a triangle
with AB perpendicular to BC. Further BD is
perpendicular to AC. If AD =9 ¢cm and
DC = 4 cm, then what is the length of BD ?

B

[ O e

C D A

(a) 13/36cm

(b) 36/13 cm

() 13/2cm

6 cm

(d)

In the figure given below, the diameter of
bigger semicircle is 108 cm. What is the area
of the shaded region ?

«<—54cm —><— 54cm —>

(a) 201m cm?2

(b) 186-3n cm?
(¢) 4057 cm?

(d) 76957 cm?

99‘

100.

(F-Aj

In the
equilateral triangle with each side of length
30 cm. XY is parallel to BC, XP is parallel to
AC and YQ is parallel to AB. If XY + XP + YQ
is 40 c¢m, then the value of PQ is

figure given below, ABC is an

A
B P Q C
(a) bHem
(b) 12cm
(e) 15 em
(d) 10cm

In the figure given below, ABCD is a square of
side 4 cm. Quadrants of a circle of diameter
2 cm are removed from the four corners and a
circle of diameter 2 cm is also removed. What
is the area of the shaded region ?

D C
A . B
(a) 5% cm?
(b) 7% cm?
(¢) 9% em?
@ 93 cm?
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